H.W. #9 EE 221 Spring 2019

Show your work for credit and put a box around each of your answers (follow the hw
guidelines!)

1. Work book problems 8.23 and 8.26. (2 points each)
2. For each of the circuits from HW #8 seen below determine the average power dissipated by
the resistor. Verify yours answer using LTspice. (8 points)

SINE(0 170 60Hz) SINE(0 170 60Hz)
Vina O Vouta Vinb O Voutb
V1 V2
Cd_ R1 L3 L1 R3 ==C3
10pF 400 200mH 100mH 400 |20pF
(a) (b)
tran 100m
SINE(0 1 60Hz) SINE(0 1 60Hz)
Vinc @ Voutc Vind @ Voutd
1 12
ch_ R2 L4 L2 R4 |c4
100uF 50 100mH 100mH 50 Tiour
(c) (d)

3. Work book problem 8.31. Verify your answer using LTspice. (4 points)



